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2729 , 360°538 - 7.
30-32 29,5-32.5 10 35
33:35 12.5-35.5 ] 2
16-38 35.5-38.5 7 4
19.41 38.5-41.5 3 -
N = 50
Ans.
MN%-F .
P4.U=L|+Nﬂﬁ .ﬂ A
I
A
N 49 40% = ﬁﬂr-]m = 20
40 .
= (% (=fire N 93 40% = 50 <49 ﬁ—iﬂﬂmlmmﬁﬁa
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the {+llowing distribution.

p = (4 (DG =1 TEF WL OfF Hpa ofF % Cmf = 7

Seores | 90-99| 20-89 | 70-79 | 60-69| 50-39 | 40-49 } 30-39
freq. 2 12 | 22} 20| 14| 4 1
-!L[lﬂ I ; h
- Scores (Classcs inverval scores f omf
30-39 20.5-39.5 ] 1
40-49 39.5-49.5 4 5
© 50-59 49.5-59.5 14 |9
60-69 59.5-69.3 20 39
70-79 69.5-79.5 22 61
80-89 79.5-89.3 12 73
S0-55 _ 89.5-99.5 2 15
PR. = {F+fpx SIL}}:%
F=19 520, 5 =65, i=10,N=75L=595
ER = 65-59-5] 100
{I':} + 20 x —-—-—ID 75
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.. PR. = 40

Ex. 3 : On an achievement test \
they are arranged in order {rank) n.l:" their p :
pusition; what will be his pcrccnuir.: Rank’
Ans i

on Phy. Sc. on 25 students of clasy y
erformances. Nilada sconp, ﬁ'tl{

IOOR = 30
PR = 1U0- —

100 x 6 - 50 550
PR of Niladri = lﬂﬂ-[ N ) = 100 -5
= 100 - 22 = 78

Ex. 4 : <=0 =iariiem «0tsm 20 o fmfa cwmaiE 29—
12. 20, 2515, 8, 32, 28, 35, 22, 44,

36, 17, 29, 13, 9, 37, 40, 21, 10, 42
17 CEITE9 Perventile Rank 79 T
Ans ; (BRI Fraws SEEl TS 28 | 17 0319 Rank order= 1

Scores Rank order Scores Rank order
44 1 22 1
42 2 21 12
40 3 20 i3
37 4 17 14
36 5 15 13
33 6 13 16
32 7 12 17
29 & 10 18
28 0 g 19
25 [0 g 20

. PR = 00— 10 x 14 —50
20
1.35(
= 100- ZU} =100 - 6735 = 12.5

17 CFEDE PR = 32 (sefAeem ura)



